{ 2

~——OPENING WIDTH —=

SPECIFY ASSEMBLY SP061312-1

OPENING WIDTH =
OPENING HEIGHT=
HANDLE HEIGHT =

HANDLE HEIGHT

I?I

OPENING HEIGHT

180 DEG SWING

NON LOCKING LEVER HANDLE
OTHER STYLES ON REQUEST

1/4" CLEAR POLYCARBONATE
OR SPECIFY

PROJECT SP061312-1 LEVER DOOR

DRAWN BY ANDY MOLES

DATE 7/16/2012

Minilec

THE ART OF SIMPLICITY

WWW.MINITECFRAMING.COM
VICTOR, NY

PH # 585 924-4690

FX # 585 924-4821
amoles@minitecframing.com

DWG NO
SP061312-1

REV

DRAWN FOR TITLE
MINITEC'S ADD TITLE
CUSTOMER
Egtégg%%E:ERWISE NOTED MATERIAL
X +/-1/32"

XX +/- 015" FINISH
XXX +/- .010"

ISHEEI' 10F9




DOOR JAMB

38.000 in HANDLE HEIGHT

=——34.000 in OPEN WIDTH

80.000 in OPEN HEIGHT

1.772 in

SECTION A-A
SCALE .3

37.750in

33.677 in———

30.646 in

38.832 in

b

Iﬁl

34.206 in

80.125 in
80.361 in

PROJECT SP061312-1 LEVER DOOR

DRAWN BY ANDY MOLES

DATE 7/16/2012

WWW.MINITECFRAMING.COM

= EC T
MinlTec &=
Ui\= PH # 585 924-4690

THE ART OF SIMPLICITY FX#585924-4821

amoles@minitecframing.com

DRAWN FOR TITLE DWG NO REV
MINITEC'S ADD TITLE SP061312-1 LEVER HANDLE FRA
CUSTOMER

Egl\:éggh(‘?;;ERWISE NOTED MATE RIAL

i FINISH ISHEEI' 20F 9

XXX +/-.010'




DETAIL B
SCALE .16

®

®

DETAIL C
SCALE .3

PARTS LIST QTY 1

PROJECT SP061312-1 LEVER DOOR

DRAWN BY ANDY MOLES

DATE 7/16/2012

Minilec

THE ART OF SIMPLICITY

WWW.MINITECFRAMING.COM
VICTOR, NY

PH # 585 924-4690

FX # 585 924-4821
amoles@minitecframing.com

ITEM PART # MATERIAL DESCRIPTION QTY
1 SP061312-1-3 20.1067 PROFILE 45X90 UL |PLA4 45 1
2 SP061312-1-8 20.1032 PROFILE 45X90 F  |PLA4 45 MACHINE TO SP061312-1-8 1
3 SP061312-1-4 20.1055 45X32 F MACHINE TO SP061312-1-4 1
4 SP061312-1-2 20.9004 AL ANGLE 3/4 X 1-1/2 |[MACHINE TO SP061312-1-2 1
5 SP061312-1-5 20.1033 PROFILE 45X45 F 1
6 SP061312-1-1 20.1033 PROFILE 45X45 F |[MACHINE TO SP061312-1-1 1
7 SP061312-1-7 20.1033 PROFILE 45X45 F 1
8 SP061312-1-6 20.1033 PROFILE 45X45 F [PLBE 2
9 SP061312-1-9 21.1830 CLEAR POLYCARB |NOTCH FOR PL TO SP061312-1-9 1

1/4"
10 SP061312-1-10 21.1830 CLEAR 1/4" NOTCH FOR PL TO SP061312-1-10 1
POLYCARB
11 21.1378 HINGE L 45X45 LEFT HAND CONFIG 4
12 21.9302 LEVER HANDLE NON-LOCKING 1
13 21.0818 POWER-LOCK SF 12
14 21.1506 M6x16 C'SUNK 5
15 21.1330/2 M6 SQUARE NUT POS FXG 5
16 22.1003/1 END CAP 45x32 Z Gray 2
17 22.1004/1 END CAP 45X45 GRAY 4
18 22.1086/1 INSERT SEAL 6 FOR PANELS 3/16" - 1/4" THICK 310"

DRAWN FOR TITLE DWG NO REV
MINITEC'S ADD TITLE SP061312-1

CUSTOMER

Egl\:égghggff;ERWISE NOTED MATERIAL

i FINISH | seeT 3 0F 9

XXX +/- .010'




36.873in
38.000 in
84.293 in

\ 39.127 in

.000 in

886 in. @1.000 in ¥ .625 in

=—2.254 in—=

MACHINED RECESS 1/16" DP

FOR BOTH LEFT & RIGHT HAND DOORS
SEE MODEL TO SET TO JUST LEFT

OR RIGHT HAND

WWW.MINITECFRAMING.COM

PROJECT SP061312-1 LEVER DOOR |M' 'T
WM [/ & <2, 0

DRAWN BY ANDY MOLES THE ART OF SIMPLICITY FX#58592_4_‘4321 .
DATE 7/16/2012 amoles@minitecframing.com

DRAWN FOR TITLE DWG NO REV
MINITEC'S ADD TITLE SP061312-1-1

CUSTOMER

e erwise nores. | MATERIAL — 20.1033 PROFILE 45X45 F

X +/-1/32"

i FINISH [sreeT 4 oF

XXX +/-.010'




.000 in
1.000 in

1.011i

8.998 in
16.995 in
24.993 in

32.990 in
——33.990 in

34— |-
jl —
.

11/2

90° \v FOR M6
@6.2mm THRU (5 PLCS)

WWW.MINITECFRAMING.COM

PROJECT SP061312-1 LEVER DOOR |Minﬁ’—i'@@ ey HINT
DRAWN BY ANDY MOLES | PH # 565 924-4690
FX # 585 924-4821

DATE 7/16/2012 THE ART OF SIMPLICITY amoles@minitecframing.com
DRAWN FOR TITLE DWG NO REV
MINITEC'S ADD TITLE SP061312-1-2

CUSTOMER

e erwise nores. | MATERIAL - 20.9004 AL ANGLE 3/4 X 1-1/2

X +/-1/32"

i FINISH [sEeTsoF

XXX +/-.010'




.000 in
.382in

1.387in
1.772 in REF

POCKET .18" DP

£ £ £

[ Q)] o (o]

= o LN N

= © N @

=) R & A
R.250 in 4 PLCS

~

\~ M4x0.7 - 6H THRU

(2 PLCS)

@7/8 THRU

80.125in

~

PROJECT SP061312-1 LEVER DOOR

DRAWN BY ANDY MOLES

DATE 7/16/2012

I =] [~
Miniec &5
| PH # 585 924-4690

THE ART OF SIMPLICITY

WWW.MINITECFRAMING.COM

FX # 585 924-4821
amoles@minitecframing.com

DRAWN FOR TITLE DWG NO REV
MINITEC'S ADD TITLE SP061312-1-4

CUSTOMER
[TOLERANCES MATERIAL 20.1055 45X32 F

UNLESS OTHERWISE NOTED
X +/-1/32"

XX +/- 015"
XXX +/-.010"

FINISH

ISHEEI'G OF 9




INSTALL POWER-LOCKS ALL 4 ENDS
TOWARD 45MM SIDE

30.646 in N

1.490 in @1.91 in (THRU)

1.771in

- = [ [ WWW.MINITECFRAMING.COM
PROJECT SP061312-1 LEVER DOOR MD@H 7 I{—‘@I@ VICTOR Y
DRAWN BY ANDY MOLES L= PH # 585 924-4690
THE ART OF SIMPLICITY FX#585924-4821

DATE 7/16/2012 amoles@minitecframing.com

DRAWN FOR TITLE DWG NO REV
MINITEC'S ADD TITLE SP061312-1-8

CUSTOMER

e erwise nores. | MATERIAL  20.1032 PROFILE 45X90 F

X +/-1/32"

i FINISH [sreeT 70F

XXX +/-.010'




31.646 in

35.206 in

220 in——==—

/\ 1.000 in X 45° Chamfer

(2 PLCS)

PROJECT SP061312-1 LEVER DOOR

DRAWN BY ANDY MOLES

DATE 7/16/2012

Minilec

THE ART OF SIMPLICITY

WWW.MINITECFRAMING.COM
VICTOR, NY

PH # 585 924-4690

FX # 585 924-4821
amoles@minitecframing.com

DRAWN FOR TITLE DWG NO REV
MINITEC'S ADD TITLE SP061312-1-9

CUSTOMER

e rwise nores. | MATERIAL — 21.1830 CLEAR POLYCARB 1/4"

X +/-1/32"

i FINISH [sEeT s oF s

XXX +/-.010'




—= =220 in

31.65in

39.83in

1.000 in X 45° Chamfer

(2 PLCS)
PROJECT SP061312-1 LEVER DOOR M ﬁ ﬁl’—{_‘@ @ YW MINTTECFRAMING. COM
| ” ) [ | = g
PH # 585 924-4690
DRAWN BY ANDY MOLES THE ART OF SIMPLICITY FX#58592_4_‘4321 .
DATE 7/16/2012 amoles@minitecframing.com

DRAWN FOR TITLE DWG NO REV
MINITEC'S ADD TITLE SP061312-1-10

CUSTOMER

e erwise nores. | MATERIAL - 21.1830 CLEAR 1/4" POLYCARB

X +/-1/32"

i FINISH [srEeT o oF 9

XXX +/-.010'




